
DVCS charge normalized yield
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Fit result: y = -0.0007x + 1.0243
 / NDf = 56.575 / 182χ

Charge normalized DVCS events(LH2) / Mean value

random events removed

2 𝜇A cut

Directly from the report file
The average of the whole run



Beam Current Calculation

2KinC_x60_4b
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DVCS charge normalized yield
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Fit result: y = -0.0006x + 1.0219
 / NDf = 59.530 / 182χ
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2 𝜇A cut

Fitting result



DVCS charge normalized yield
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Fit result: y = 0.0008x + 0.9724
 / NDf = 1063.674 / 182χ

Charge normalized DVCS events(LH2) / Mean value

random events removed
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Fitting result

No cut was applied for events



DVCS charge normalized yield
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Fit result: y = -0.0006x + 1.0201
 / NDf = 47.844 / 182χ

Charge normalized DVCS events(LH2) / Mean value

random events removed

𝐼 − 3𝜎 𝜇A cut

Fitting result
Applied the same cuts for the physical events



DVCS charge normalized yield

6KinC_x60_4b

10 15 20 25 30 35 40
AµBeam Current / 

0.97

0.98

0.99

1

1.01

1.02

1.03

1.04

1.05

co
un

ts
 / 

M
ea

n 
va

lu
e

Charge normalized DVCS events(LH2) / Mean value

Fit result: y = -0.0006x + 1.0219
 / NDf = 59.530 / 182χ
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Fit result: y = -0.0006x + 1.0201
 / NDf = 47.844 / 182χ
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DVCS charge normalized yield

7KinC_x60_4b
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Fit result: y = -0.0006x + 1.0201
 / NDf = 47.844 / 182χ

Charge normalized DVCS events(LH2) / Mean value

random events removed
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Fitting result
Applied the same cuts for the physical events
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